Installing a CDM-12 Player
into a CDM-3 Mechanism
(Kit #66505907)

@ apm-

These instructions provide procedures to help you install a CDM-12 player into an existing CDM-{J mechanism.
CDM-3 mechanisms were used on all CD-100's, CD100A’s and some CD100B's, CD51's, and Hideaways.

— B \ 3! I‘g 5
% Biack Sirpe o 3 m /
FIXXT
CX
o> % = \ €o
9> ) i 7
TS 25
D=\ ©
LR ° =
i IE — = <—18
17 9 13 8
QB S Y2 S Mg S 5
4 By Oy &3 - Ko | )
s B )
. Figure 1. Kit Parts
Required Parts List
Ref. Description Part No. Qty.
This instruction Sheet 21999501 1
1 Plate and Player Assembly 61092401 1
2 8-32 x 5/8" Hex WHMS 80743010 2
3 1/4-20 x 1" Sems Hex WHS 80715716 1
4 8-32 x 1" Hex WHMS 80743016 1
5 Mech Control Assembly 61086201 1
6 8-32 x 1/4" Hex WHS 80443004 3
7 Ribbon Hamess 40871601 1
8 Cam Drive Shaft 21813202 1
9 Hold Down Cam 30930002 1
10 Nyliner Bearing 70146005 2
1 Sector Gear 40720502 1
12 Spacer 70121739 1
13 External Retaining Ring 70143010 1
14 Roll Pin {131 x .135x 11/16") 70113003 2
15 Reinforcement Bracket 30967602 1
16 8-32 x 3/8" Hex WHMS 80443006 2
17 Connector Housing (10-Position) 70075510 1
18 Keying Plug 70075701 2
19 Power Supply Circuit Board Assembly 61086501 1

TOOLS REQUIRED: A 1/4" and 3/8" nut driver, a 1/16" and 3/16" drift punch, a small hammer, pliers, and a slot

head screwdriver (smali blade).

21989501
Page 10f @



INSTALLATION PROCEDURES
NOTE: Turn main power off. Disconnect main harness connections from CD mechanism and check that

other restraints are free.

Remove the CD Mechanism from the jukebox.

1.
2,

5.

Disconnect all of the Mech and Decoder wire hamesses frorn the mech assembly on the CDM-4.

Loosen the two screws located on the right hand side of the mech that retain the Mech and Decoder
assembly and remove the assembly.

Removae the Cancel switch (leaving the wires attached) and counters located on the mounting plate, then
remove the wires connected to the circuit breaker.

Remove the 1/4-20 screw and the 8-32 screw located near the hold down hinge. Remove the 8-32 screw
located on the far right of the mounting plate, near the Mech and Decoder assembly, then remove the
mournting plate with player and fiber insulating sheet. These mounting points are in the same relative posi-
tions as those shown in Figure 4b.

Look at the hold down cam and see if it looks like the one in this kit. If it does look the same, skip to Step 17.

NOTE: The following steps can be done without removing the CD's, but care must be taken to not shake

the top discs out of the magazine.

Ruaferonce Figure 3 for steps 6 through 16.

6. Remove rotator by unscrewing the 6-32 screw.

7. Remove the two screws and washers that retain the gripper bow's truntnion pin in place. Pull out the trunnion
pins and gripper bow assembly.

8. Rotate the cam switch cam so that the transfer link is in the uppermost position. Using a 1/16" diameter drift
punch gently tap the .082 diameter roli pin out of the cam shalt and sector gear.

a. Remove the retaining ring from the transfer link at the sector gear.

9. Slide the cam shaft assembly out of the mech’s base casting. Remove the sector gear from inside the mech
casting.

10. Remove the two large nyliner bearings from inside the base casting, one inside and one outside.

11. Install the two new nyliner bearings supplied in this kit.

12. Assemble hoid down cam to the new cam shait with (1) roll pin and retaining ring provided with this kit. Slide
cam shaft assembiy with bowed washer (removed from original cam shaft) through the nyliner bearings just
installed, stopping slightly short of where the sector gear attaches. Be sure to apply a drop of light machine oil
to the inside of the nyliner bearings.

13. Remove the nyliner bearing from the old sector gear and install it on the new sector gear if necessary. The
new gear should have new nyliner.

21999501

Page 209



. Place the new sector gear into the mech base in the same onengatlon that the origina! gear was in, wit
2 link hole toward the front of the mech. Using a 3/16" diameter drift punch, tap the new .131 diameter roll
through the cam shaft and the “V" of the new sector gear. The roll pin should protrude equally on both

sides of sector gear "V".

NOTE:
* R is possible to install the eactor gear and have the relationship of the sector gear and the hold
down cam 180° out of alignment. The completed assembly should appear as in F/gure 3 with both §
sector gear and hold down cam lobe pointing in the up direction. If a mistake was madse In the '
pinning operation, it Is only necessary to remove the retaining ring, holding the hold down cam in

place. Rotate the cam 180° and replace the retaining ring. :

b. Reinstall the transfer link assembly that comes from the transfer motor assembly using the retaining ring
that was previously removed.

14. a. Rotate the cam switch cam so that the transter
link is in its full down position.

b. Rotate the cam gear on the gripper bow assembly _
30 it koks like Figure 2. Cam Goar Grippert Bow

c. Place the gripper bow assembly into the mech
base casting.

Not Ali

15. Reinstall the two trunnion pins. Verify that the gripper Note Hol
bow has full movement when the cam switch's cam is | | ocation in
rotated. If the gripper bow does not move properly, Cam Gear
repeat the beginning of Step 14.

16. Reinstall rotator using the previously removed 6-32 screw.

17. Remove the transformer located on the mech support frame by removing the two (2) mounting screws.
Remove wire connections from the mech hamess (17-pin cornnector) or just cut the wires.

18. Before installing CDM-12 plate and player assembly, loosen hold down brackets {See Figure 4b) and remove
CDM-12 player.
THE PLAYER. Set the player aside until after the mounting plate and the new mech control unit has been
assambled.

19. With the gripper bow in the magazine (standby position), install new CDM-12 mounting plate assembly.
Afttach using the 1/4-20 x 1" hex head screw with (1) 8-32 x 5/8" screw and (1) 8-32 x 1" screw. Spacer
70121739 goes under the mounting plate on the left side and requires the 8-32 x 1* screw for mounting. The
three screws go in the same relative locations as the previous mounting plate (See Figure 4b).

20. a. Before installing reinforcement bracket 30967602 (See Figure 4a), remove the cable clamp that is on the
bottom of the base casting. Relocate the clamp so that the mounting screw hole is toward the back of the
mech and install bracket and clamp with (2) 8-32 x 3/8" screws. Secure the top of the reinforcemaent
bracket is with (1) 8-32 x 1/4" screw through the mounting plate assembly.

b. Install the previously removed cance! switch and (2) courters to the CDM-12 mounting plate, using nut
and screws removed earlier. Locations are indicated on the mounting plate. The counter with the white
background digits is the money counter.

¢. Before installing the new mech control assembly, connect the 14-pin connector of the ribbon harness to
P2 of the mech control assembly. Connect the optical switch harness to P1 of the new mech control
assembly. These conrnections will bea difficult to assemble after the mech contro! assembly is in place.

d. The new mech control assembly has a metal tab extending from the base plate that inserts into the slot of
the support frame and the flange of the assemnbly mounts on top of the CDM-12 mounting plate (See
Figure 4b.) with (2) 8-32 x 1/4" screws. Route the ribbon harness through the cable clamp installed with
reintorcement bracket so that the wire tie is to the right-hand side of the clamp.

21999501
Page 3 0f9



Trunnion Cam Gear

Gripper Bow
Asaembly

Nyliner Reolaining
‘ Besring Ring

Transier
Link \
Cam Hold Trunnion Pin and '
Down Mounting Scraws
& Washers ’
P S
> Roll Pin
Retaining
Ring

Camdrive
Shatt

Bowed Washer

Basa Casting
Rotator
_ Mounting
Screw
E
6\ Nyliner
) Bearing
Camewlich .
Cam ') (/] ')

Figure 3

21999501
Page 4 of 9



Ailguessy |04uoD YIS

.8/€ X 28

By anbid

dwej) aqed ylim
1@)o8ig JUBLLIBJIOJUIBY

UOI1B0T YOUMS |90UBD

T\

I
ta

<« loRig
umeg pioH

1908.d \

umoq PIoH

«V/l X288

21999501
Paga 50l ®



T

1/4-20 x 1" Hex
tiead Plate — |

Mounting Screw

§-32 x 1" Hex @ @ \@ ” “

Head Plate -e- - -

Mounting mny/mh o e 4 Reen //
SPACER o - 1 @
LOCATION— ®

Hold Uo.m..‘a.\\.. »0 O

O4

Bracket

HOME

0
@—_

INDEX
ROWELINK TX
CDM COMM
SCAN/TRANS

g
ol

L A

T
et

Mounting of Relnforcement Bracket

NOTE: Hold-down assembly not shown for clarity
Figure 4b.

Mech Control Assembly

8-32 x 1/4" Hex

L—"Hzad Mech Contrel

MountingScrew

8-32 x 5/8" Piate
NMounting Screw

L____Hold Down

Bracket

8-32 x 1/4" Hex

L —+ead Mech Control

fsounting Screw

21999501
Page 6019



21. Bafore installing the CDM-12 player onto the mounting plate, connect the 4-pin connector with the black
stnpe to the player circuit board connsctor facing the front of the mech. Route this portion of the hamess

bemoms s sudn srmsvnizioe vy

through opening in mounting plats. Connsct the remaining connectors, a 4-pin and a &-pin, through the

opening of the mounting plate to the player circuit board connectors facing the back of the mech. Atter
replacing the player, adjust the hold down brackets and tighten the mounting screws (See Figure 4b).
NOTE: Make cerialn that the player mounting suspension is free,

22. Amrange the mech hamess to allow the 17-pin connector room to attach to P7 of new mech contral assembly.
Cut the restraining tie if necessary. Attach counter hamess connector to P3 of the mech control assembily.

23. For locations of hamess connectors to the new Mech Control assembly See Figure 5.

P1 O
Optical Audio
Switches 1 Q
P3
- Counters
61086201
P2 Mechanism Systam
Control P‘:’é‘"
= cD Computer
Player P
Rowelink
1
Mech Interface P8¢
O P7 1
P9
Plug Rowelink
L —— 14-pin Ribbon To P8
Connector Here Figure 5
21998501

Page 7 of 8



The Main Phonograph hamess connections are Rowelink to P8. The audio phono cable plugs and system
power connect to P6.

The kit contains (1) 10-position connector housing and (2) keying plugs that will mate with P& systern power.
To prevent damage to the mech control and the CDM-12 player circuit board assemblies, remove wires from
existing connectors P7 and P10 and assemble them into new 10-position housing as shown in Figure 6.

24. The black/white wire located in pin 6 of P6 (System Power Connector) has a 3-way red splice located about

10" from the mech control assembly. This splice contains a white/black wire that must be cut from the splice.
o
o >
P7 P6
CDM-3 Harness System Power
Red (+28VDC) ~——f—— 1 I 4 27V RED
L= [
Slate (Resat)-—-——-~—»—-l ] D> r‘ T 2 RELET SLATL

T

Brown (+8VDC)———f |35 [ 13 +3v wkeww

Black {Power Common)——-—-—————w-——‘::*‘—; 4y [——‘.‘j 4 ‘ N WA
ot 5| g [

Black/White (Logic Common)————— | g [ e ot wenacwnrs
open || 1
Yaliow (28VAC)"——1-‘-—-(::. 1> : B 2% vAS Yo Ll OW
White/Black (Ref. Gnd.)m'{: 2—> \‘ ] 18 e e e
key—t—_____|3—> Kgyi [ 10

N
\
CDM-3 Harness 7007501
P10
Figure 6

21999501
Page 8 of 9



Main Power Supply
A. Remove main power supply from phonograph.

B. Replace the old circuit board assembly with new assembly 61086501, The new board does not use power
transistor connections. Dress these wires out of the way.

~-—> C. The 8-position connector from the transformer has a black wire in pin 4. Cut this wire at both ends.
D. Reassemble the power supply and instafl back into the phonograph.
25. Reinstall the CD Mechanism in the phonograph.

26. Test by placing the mech in SERVICE mode and rotating magazine with the use of the CANCEL button, then
test it in NORMAL mode by playing a disc.

21898501
PagoDof 8



